



Solution of a Solvable System of Difference Equations

Ali Gelişken¹ , Murat Ari² ,

Keywords

Difference equations,
Periodicity,
System of difference
equations,
Asymptotic behavior

Abstract — In this study we give solutions for the following difference equation system

$$x_{n+1} = \frac{ax_n y_{n-3}}{y_{n-2} - \alpha} + \beta, \quad y_{n+1} = \frac{bx_{n-3} y_n}{x_{n-2} - \beta} + \alpha, \quad n \in \mathbb{N}_0$$

where the parameters a, b, α, β and initial values $x_{-i}, y_{-i}, i = 0, 1, 2, 3$ are non-zero real numbers. We show the asymptotic behavior of the system of equation.

Subject Classification (2020): 39A10.

1. Introduction

Although difference equations are look simple, it is very difficult fully understand the behaviors of their solutions. Continuous events in engineering, finance, physics, biology etc., is modelled by using differential equations. But, discontinuous events can be formed by a difference equations. Also, difference equations can be used to solve differential equations numerically. So, there is a great recent interest in difference equations(see [1-27]). In this study we investigate following system of the equation which is motivated by Haddad at al. [5].

$$x_{n+1} = \frac{ax_n y_{n-3}}{y_{n-2} - \alpha} + \beta, \quad y_{n+1} = \frac{bx_{n-3} y_n}{x_{n-2} - \beta} + \alpha, \quad n \in \mathbb{N}_0 \quad (1.1)$$

where the parameters a, b, α, β and initial values $x_{-i}, y_{-i}, i = 0, 1, 2, 3$ are non-zero real numbers.

Let's give following well known lemma which be used to prove our theorems.

Lemma 1.1. Let $(a_n)_{n \in \mathbb{N}_0}$ and $(b_n)_{n \in \mathbb{N}_0}$ be two sequences of real numbers and consider the linear difference equation $a_n \neq 0$ for $\forall n \in \mathbb{N}_0$

$$y_{n+1} = a_n y_n + b_n.$$

Then

$$y_n = \left(\prod_{i=0}^{n-1} a_i \right) y_0 + \sum_{r=0}^{n-1} \left(\prod_{i=r+1}^{n-1} a_i \right) b_r.$$

¹aligelisken@gmail.com.tr ; ²muratari@kmu.edu.tr (Corresponding Author)

¹Faculty of Engineering and Natural Sciences, Konya Technical University, Konya, Turkey

²Faculty of Science, Karamanoğlu Mehmetbey University, Karaman, Turkey

Article History: Received: 03.01.2022 - Accepted: 21.02.2022 - Published: 10.03.2022

Moreover, if $(a_n)_{n \in \mathbb{N}_0}$ and $(b_n)_{n \in \mathbb{N}_0}$ are constant (i.e $a_n = a$ and $b_n = b$ for some real numbers a and b for all $n \in \mathbb{N}_0$), then

$$y_n = \begin{cases} y_0 + bn, & a = 1, \\ a^n y_0 + (\frac{a^n - 1}{a - 1})b, & a \neq 1 \end{cases} \quad n \in \mathbb{N}_0.$$

2. Solutions of the system

In this section we give well-defined solutions of the system

Theorem 2.1. Let (x_n, y_n) be a well-defined solution of the system (1.1). Then for $n \in \mathbb{N}_0$

$$x_{6n+i} = \left(\prod_{t=0}^{n-1} \left(\frac{a}{b} \right)^{6t+i} d \right) x_i + \sum_{r=0}^{n-1} \left(\prod_{t=r+1}^{n-1} \left(\frac{a}{b} \right)^{6t+i} d \right) F_i^r(u, \frac{a}{b})\beta,$$

$$y_{6n+i} = \left(\prod_{t=0}^{n-1} \left(\frac{b}{a} \right)^{6t+i} e \right) y_i + \sum_{r=0}^{n-1} \left(\prod_{t=r+1}^{n-1} \left(\frac{b}{a} \right)^{6t+i} e \right) F_i^r(v, \frac{b}{a})\alpha,$$

where $u_i = \frac{x_{i+1} - \beta}{x_i}$, $v_i = \frac{y_{i+1} - \alpha}{y_i}$, $i \in \{0, 1, 2, 3, 4, 5\}$, $d = u_5 u_4 u_3 u_2 u_1 u_0$, $e = v_5 v_4 v_3 v_2 v_1 v_0$ and

$$F_0^n(x, y) = y^{5n} x_5 x_4 x_3 x_2 x_1 + y^{4n} x_5 x_4 x_3 x_2 + y^{3n} x_5 x_4 x_3 + y^{2n} x_5 x_4 + y^n x_5 + 1$$

$$F_1^n(x, y) = y^{5n+1} x_5 x_4 x_3 x_2 x_0 + y^{4n+1} x_5 x_4 x_3 x_0 + y^{3n+1} x_5 x_4 x_0 + y^{2n+1} x_5 x_0 + y^{n+1} x_0 + 1$$

$$F_2^n(x, y) = y^{5n+2} x_5 x_4 x_3 x_1 x_0 + y^{4n+2} x_5 x_4 x_1 x_0 + y^{3n+2} x_5 x_1 x_0 + y^{2n+2} x_1 x_0 + y^{n+1} x_1 + 1$$

$$F_3^n(x, y) = y^{5n+3} x_5 x_4 x_2 x_1 x_0 + y^{4n+3} x_5 x_2 x_1 x_0 + y^{3n+3} x_2 x_1 x_0 + y^{2n+2} x_2 x_1 + y^{n+1} x_2 + 1$$

$$F_4^n(x, y) = y^{5n+4} x_5 x_3 x_2 x_1 x_0 + y^{4n+4} x_3 x_2 x_1 x_0 + y^{3n+3} x_3 x_2 x_1 + y^{2n+2} x_3 x_2 + y^{n+1} x_3 + 1$$

$$F_5^n(x, y) = y^{5n+5} x_4 x_3 x_2 x_1 x_0 + y^{4n+4} x_4 x_3 x_2 x_1 + y^{3n+3} x_4 x_3 x_2 + y^{2n+2} x_4 x_3 + y^{n+1} x_4 + 1.$$

Proof.

Firstly let's write system (1.1) as

$$\frac{x_{n+1} - \beta}{x_n} = \frac{a y_{n-3}}{y_{n-2} - \alpha}, \quad \frac{y_{n+1} - \alpha}{y_n} = \frac{b x_{n-3}}{x_{n-2} - \beta}.$$

Assume

$$u_n = \frac{x_{n+1} - \beta}{x_n}, \quad v_n = \frac{y_{n+1} - \alpha}{y_n}, \quad n \in \mathbb{N}_0 \tag{2.1}$$

then

$$u_n = \frac{a}{v_{n-3}}, \quad v_n = \frac{b}{u_{n-3}} \Rightarrow u_{n+3} = \frac{a}{v_n}, \quad v_{n+3} = \frac{b}{u_n}, \quad n \in \mathbb{N}_0 \tag{2.2}$$

and

$$u_{n+6} = \frac{a}{b} u_n, \quad v_{n+6} = \frac{b}{a} v_n, \quad n \in \mathbb{N}_0. \tag{2.3}$$

Hence for $n \in \mathbb{N}_0$

$$u_{6n+i} = \left(\frac{a}{b} \right)^n u_i, \quad v_{6n+i} = \left(\frac{b}{a} \right)^n v_i, \quad i = 0, 1, 2, 3, 4, 5. \tag{2.4}$$

Rearranging equation (2.1), we get

$$x_{n+1} = u_n x_n + \beta \tag{2.5}$$

$$y_{n+1} = v_n y_n + \alpha \tag{2.6}$$

Replacing n by $6n + i$ for $i \in \{0, 1, 2, 3, 4, 5\}$

$$x_{6n+i+1} = u_{6n+i} x_{6n+i} + \beta = \left(\frac{a}{b}\right)^n u_i x_{6n+i} + \beta, \quad n \in \mathbb{N}_0, i \in \{0, 1, 2, 3, 4, 5\},$$

$$y_{6n+i+1} = v_{6n+i} y_{6n+i} + \alpha = \left(\frac{b}{a}\right)^n v_i y_{6n+i} + \alpha, \quad n \in \mathbb{N}_0, i \in \{0, 1, 2, 3, 4, 5\}.$$

$$x_{6n+6} = \left(\frac{a}{b}\right)^{6n} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n} + \beta \left(\left(\frac{a}{b}\right)^{5n} u_5 u_4 u_3 u_2 u_1 + \left(\frac{a}{b}\right)^{4n} u_5 u_4 u_3 u_2 + \left(\frac{a}{b}\right)^{3n} u_5 u_4 u_3 \left(\frac{a}{b}\right)^{2n} u_5 u_4 + \left(\frac{a}{b}\right)^n u_5 + 1 \right), \tag{2.7}$$

$$x_{6n+7} = \left(\frac{a}{b}\right)^{6n+1} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n+1} + \beta \left(\left(\frac{a}{b}\right)^{5n+1} u_5 u_4 u_3 u_2 u_0 + \left(\frac{a}{b}\right)^{4n+1} u_5 u_4 u_3 u_0 + \left(\frac{a}{b}\right)^{3n+1} u_5 u_4 u_0 + \left(\frac{a}{b}\right)^{2n+1} u_5 u_0 + \left(\frac{a}{b}\right)^{n+1} u_0 + 1 \right), \quad n \in \mathbb{N}_0 \tag{2.8}$$

$$x_{6n+8} = \left(\frac{a}{b}\right)^{6n+2} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n+2} + \beta \left(\left(\frac{a}{b}\right)^{5n+2} u_5 u_4 u_3 u_1 u_0 + \left(\frac{a}{b}\right)^{4n+2} u_5 u_4 u_1 u_0 + \left(\frac{a}{b}\right)^{3n+2} u_5 u_1 u_0 + \left(\frac{a}{b}\right)^{2n+2} u_1 u_0 + \left(\frac{a}{b}\right)^{n+1} u_1 + 1 \right), \quad n \in \mathbb{N}_0 \tag{2.9}$$

$$x_{6n+9} = \left(\frac{a}{b}\right)^{6n+3} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n+3} + \beta \left(\left(\frac{a}{b}\right)^{5n+3} u_5 u_4 u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{4n+3} u_5 u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{3n+3} u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{2n+2} u_2 u_1 + \left(\frac{a}{b}\right)^{n+1} u_2 + 1 \right), \quad n \in \mathbb{N}_0, \tag{2.10}$$

$$x_{6n+10} = \left(\frac{a}{b}\right)^{6n+4} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n+4} + \beta \left(\left(\frac{a}{b}\right)^{5n+4} u_5 u_3 u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{4n+4} u_3 u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{3n+3} u_3 u_2 u_1 + \left(\frac{a}{b}\right)^{2n+2} u_3 u_2 + \left(\frac{a}{b}\right)^{n+1} u_3 + 1 \right), \quad n \in \mathbb{N}_0, \tag{2.11}$$

$$x_{6n+11} = \left(\frac{a}{b}\right)^{6n+5} u_5 u_4 u_3 u_2 u_1 u_0 x_{6n+5} + \beta \left(\left(\frac{a}{b}\right)^{5n+5} u_4 u_3 u_2 u_1 u_0 + \left(\frac{a}{b}\right)^{4n+4} u_4 u_3 u_2 u_1 + \left(\frac{a}{b}\right)^{3n+3} u_4 u_3 u_2 + \left(\frac{a}{b}\right)^{2n+2} u_4 u_3 + \left(\frac{a}{b}\right)^{n+1} u_4 + 1 \right), \quad n \in \mathbb{N}_0, \tag{2.12}$$

$$\begin{aligned}
 y_{6n+6} &= \left(\frac{b}{a}\right)^{6n} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n} + \alpha \left(\left(\frac{b}{a}\right)^{5n} v_5 v_4 v_3 v_2 v_1 + \left(\frac{b}{a}\right)^{4n} v_5 v_4 v_3 v_2 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n} v_5 v_4 v_3 + \left(\frac{b}{a}\right)^{2n} v_5 v_4 + \left(\frac{b}{a}\right)^n v_5 + 1 \right), \quad n \in \mathbb{N}_0,
 \end{aligned} \tag{2.13}$$

$$\begin{aligned}
 y_{6n+7} &= \left(\frac{b}{a}\right)^{6n+1} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n+1} + \alpha \left(\left(\frac{b}{a}\right)^{5n+1} v_5 v_4 v_3 v_2 v_0 + \left(\frac{b}{a}\right)^{4n+1} v_5 v_4 v_3 v_0 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n+1} v_5 v_4 v_0 + \left(\frac{b}{a}\right)^{2n+1} v_5 v_0 + \left(\frac{b}{a}\right)^{n+1} v_0 + 1 \right), \quad n \in \mathbb{N}_0,
 \end{aligned} \tag{2.14}$$

$$\begin{aligned}
 y_{6n+8} &= \left(\frac{b}{a}\right)^{6n+2} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n+2} + \alpha \left(\left(\frac{b}{a}\right)^{5n+2} v_5 v_4 v_3 v_1 v_0 + \left(\frac{b}{a}\right)^{4n+2} v_5 v_4 v_1 v_0 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n+2} v_5 v_1 v_0 + \left(\frac{b}{a}\right)^{2n+2} v_1 v_0 + \left(\frac{b}{a}\right)^{n+1} v_1 + 1 \right), \quad n \in \mathbb{N}_0,
 \end{aligned} \tag{2.15}$$

$$\begin{aligned}
 y_{6n+9} &= \left(\frac{b}{a}\right)^{6n+3} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n+3} + \alpha \left(\left(\frac{b}{a}\right)^{5n+3} v_5 v_4 v_2 v_1 v_0 + \left(\frac{b}{a}\right)^{4n+3} v_5 v_2 v_1 v_0 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n+3} v_2 v_1 v_0 + \left(\frac{b}{a}\right)^{2n+2} v_2 v_1 + \left(\frac{b}{a}\right)^{n+1} v_2 + 1 \right), \quad n \in \mathbb{N}_0,
 \end{aligned} \tag{2.16}$$

$$\begin{aligned}
 y_{6n+10} &= \left(\frac{b}{a}\right)^{6n+4} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n+4} + \alpha \left(\left(\frac{b}{a}\right)^{5n+4} v_5 v_3 v_2 v_1 v_0 + \left(\frac{b}{a}\right)^{4n+4} u_3 u_2 u_1 u_0 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n+3} v_3 v_2 v_1 + \left(\frac{b}{a}\right)^{2n+2} v_3 v_2 + \left(\frac{b}{a}\right)^{n+1} v_3 + 1 \right), \quad n \in \mathbb{N}_0,
 \end{aligned} \tag{2.17}$$

$$\begin{aligned}
 y_{6n+11} &= \left(\frac{b}{a}\right)^{6n+5} v_5 v_4 v_3 v_2 v_1 v_0 y_{6n+5} + \alpha \left(\left(\frac{b}{a}\right)^{5n+5} v_4 v_3 v_2 v_1 v_0 + \left(\frac{b}{a}\right)^{4n+4} u_4 u_3 u_2 u_1 \right. \\
 &\quad \left. + \left(\frac{b}{a}\right)^{3n+3} v_4 v_3 v_2 + \left(\frac{b}{a}\right)^{2n+2} v_4 v_3 + \left(\frac{b}{a}\right)^{n+1} v_4 + 1 \right), \quad n \in \mathbb{N}_0.
 \end{aligned} \tag{2.18}$$

Let

$$x_{6n} = K_n^0, x_{6n+1} = K_n^1, x_{6n+2} = K_n^2, x_{6n+3} = K_n^3, x_{6n+4} = K_n^4, x_{6n+5} = K_n^5,$$

$$y_{6n} = L_n^0, y_{6n+1} = L_n^1, y_{6n+2} = L_n^2, y_{6n+3} = L_n^3, y_{6n+4} = L_n^4, y_{6n+5} = L_n^5, n \in \mathbb{N}_0.$$

$$F_0^n(x, y) = y^{5n} x_5 x_4 x_3 x_2 x_1 + y^{4n} x_5 x_4 x_3 x_2 + y^{3n} x_5 x_4 x_3 + y^{2n} x_5 x_4 + y^n x_5 + 1,$$

$$F_1^n(x, y) = y^{5n+1} x_5 x_4 x_3 x_2 x_0 + y^{4n+1} x_5 x_4 x_3 x_0 + y^{3n+1} x_5 x_4 x_0 + y^{2n+1} x_5 x_0 + y^{n+1} x_0 + 1,$$

$$F_2^n(x, y) = y^{5n+2} x_5 x_4 x_3 x_1 x_0 + y^{4n+2} x_5 x_4 x_1 x_0 + y^{3n+2} x_5 x_1 x_0 + y^{2n+2} x_1 x_0 + y^{n+1} x_1 + 1,$$

$$F_3^n(x, y) = y^{5n+3} x_5 x_4 x_2 x_1 x_0 + y^{4n+3} x_5 x_2 x_1 x_0 + y^{3n+3} x_2 x_1 x_0 + y^{2n+2} x_2 x_1 + y^{n+1} x_2 + 1,$$

$$F_4^n(x, y) = y^{5n+4}x_5x_3x_2x_1x_0 + y^{4n+4}x_3x_2x_1x_0 + y^{3n+3}x_3x_2x_1 + y^{2n+2}x_3x_2 + y^{n+1}x_3 + 1,$$

$$F_5^n(x, y) = y^{5n+5}x_4x_3x_2x_1x_0 + y^{4n+4}x_4x_3x_2x_1 + y^{3n+3}x_4x_3x_2 + y^{2n+2}x_4x_3 + y^{n+1}x_4 + 1.$$

Then, from (2.7)-(2.18) we get

$$K_{n+1}^i = \left(\frac{a}{b}\right)^{6n} u_5u_4u_3u_2u_1u_0K_n^i + \beta F_i^n\left(u, \frac{a}{b}\right), \quad n \in \mathbb{N}_0, \quad i \in \{0, 1, 2, 3, 4, 5\},$$

$$L_{n+1}^i = \left(\frac{b}{a}\right)^{6n} v_5v_4v_3v_2v_1v_0L_n^i + \alpha F_i^n\left(v, \frac{b}{a}\right), \quad n \in \mathbb{N}_0, \quad i \in \{0, 1, 2, 3, 4, 5\}.$$

From Lemma 1.1 we have

$$x_{6n+i} = \left(\prod_{t=0}^{n-1} \left(\frac{a}{b}\right)^{6t+i} u_5u_4u_3u_2u_1u_0\right) x_i + \sum_{r=0}^{n-1} \left(\prod_{t=r+1}^{n-1} \left(\frac{a}{b}\right)^{6t+i} u_5u_4u_3u_2u_1u_0\right) F_i^r\left(u, \frac{a}{b}\right)\beta,$$

$$y_{6n+i} = \left(\prod_{t=0}^{n-1} \left(\frac{b}{a}\right)^{6t+i} v_5v_4v_3v_2v_1v_0\right) y_i + \sum_{r=0}^{n-1} \left(\prod_{t=r+1}^{n-1} \left(\frac{b}{a}\right)^{6t+i} v_5v_4v_3v_2v_1v_0\right) F_i^r\left(v, \frac{b}{a}\right)\alpha,$$

this ends the proof.

3. Asymptotic behaviour of (1.1) for $a = b$

We study here asymptotic behavior and periodicity the case when $a = b$ of system (1.1). Let's give the following corollary, which is a direct result of Theorem 2.1.

Corollary 3.1. *Let (x_n, y_n) be a well-defined solution of the system (1.1) with $a = b$. Then, for $n \in \mathbb{N}_0, i \in \{0, 1, 2, 3, 4, 5\}$*

$$x_{6n+i} = \begin{cases} x_i + F_i^r(u, 1)\beta n, & d = 1 \\ d^n x_i + \left(\frac{d^n - 1}{d - 1}\right) F_i^r(u, 1)\beta, & \text{otherwise} \end{cases} \tag{3.1}$$

$$y_{6n+i} = \begin{cases} y_i + F_i^r(v, 1)\beta n, & e = 1 \\ e^n y_i + \left(\frac{e^n - 1}{e - 1}\right) F_i^r(v, 1)\beta, & \text{otherwise} \end{cases} \tag{3.2}$$

Now we study the limits of solutions of system (1.1).

Theorem 3.2. *Let (x_n, y_n) be a well-defined solution of the system (1.1) with $a=b$. Then, the following statements are true.*

- a) *Let's assume $d = 1$. When $F_i^r(u, 1) \neq 0$ then $|x_{6n+i}| \rightarrow \infty$ as $n \rightarrow \infty$ for $i \in \{0, 1, 2, 3, 4, 5\}$. When $F_i^r(u, 1) = 0$ then $x_{6n+i} = x_i$ for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$.*
- b) *When $(d - 1)x_i + F_i^r(u, 1)\beta \neq 0$ then*

$$\lim_{n \rightarrow \infty} |x_{6n+i}| = \begin{cases} \left| \frac{F_i^r(u, 1)\beta}{d - 1} \right|, & |d| < 1, \\ \infty, & |d| > 1. \end{cases}$$

When $(d - 1)x_i + F_i^r(u, 1)\beta = 0$ then $x_{6n+i} = x_i$ for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$.

c) Let's assume $e = 1$. If $F_i^r(v, 1) \neq 0$ then $|y_{6n+i}| \rightarrow \infty$ as $n \rightarrow \infty$ for $i \in \{0, 1, 2, 3, 4, 5\}$. Otherwise, if $F_i^r(v, 1) = 0$ then $y_{6n+i} = y_i$ for $i \in \{0, 1, 2, 3, 4, 5\}$.

d) If $(e - 1)y_i + F_i^r(v, 1)\alpha \neq 0$ then

$$\lim_{n \rightarrow \infty} |y_{6n+i}| = \begin{cases} \left| \frac{F_i^r(v, 1)\alpha}{d-1} \right|, & |d| < 1, \\ \infty, & |d| > 1. \end{cases}$$

Else $(e - 1)y_i + F_i^r(v, 1)\alpha = 0$ then $y_{6n+i} = y_i$ for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$.

Proof.

We are going to prove a) and b) rest can be done with same manner.

a) Assuming $d = 1$ and $F_i^r(u, 1) \neq 0$ we have from (3.1)

$$x_{6n+i} = x_i + F_i^r(u, 1)\beta n \neq 0,$$

when $n \rightarrow \infty$ in this equation $|x_{6n+i}| \rightarrow \infty$. If $F_i^r(u, 1) = 0$ then

$$x_{6n+i} = x_i + 0 \cdot \beta n = x_i$$

for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$.

b) Suppose that $(d - 1)x_i + F_i^r(u, 1)\beta \neq 0$ for $i \in \{0, 1, 2, 3, 4, 5\}$. Then, it shows $x_{6n+i} \neq 0$. From (3.1)

$$\begin{aligned} \lim_{n \rightarrow \infty} |x_{6n+i}| &= \lim_{n \rightarrow \infty} \left| \frac{(d-1)x_i + F_i^r(u, 1)\beta}{d-1} d^n + \frac{F_i^r(u, 1)\beta}{1-d} \right| \\ &= \left| \frac{(d-1)x_i + F_i^r(u, 1)\beta}{d-1} \lim_{n \rightarrow \infty} d^n + \lim_{n \rightarrow \infty} \frac{F_i^r(u, 1)\beta}{1-d} \right| \\ &= \begin{cases} \left| \frac{F_i^r(u, 1)\beta}{d-1} \right|, & |d| < 1, \\ \infty, & |d| > 1. \end{cases} \end{aligned}$$

If $(d - 1)x_i + F_i^r(u, 1)\beta = 0$ and $d \neq 1$. Then

$$\begin{aligned} x_{6n+i} &= d^n x_i + \left(\frac{d^n - 1}{d - 1} \right) F_i^r(u, 1)\beta = d^n x_i + \left(\frac{d^n - 1}{d - 1} \right) (-(d - 1)x_i) \\ &= d^n x_i - (d^n - 1)x_i = x_i, \quad \forall n \in \mathbb{N}_0, i \in \{0, 1, 2, 3, 4, 5\}. \end{aligned}$$

this ends the proof.

Corollary 3.3. Let (x_n, y_n) be a well-defined solution of the system (1.1) with $a=b$. Then, the following statements are true.

a) If $d = -1$ then for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$,

$$\begin{cases} x_{12n+i} = x_i, \\ x_{12n+6+i} = -x_i + F_i^r(u, 1)\beta. \end{cases}$$

b) If $e = -1$ then for all $n \in \mathbb{N}_0$ and $i \in \{0, 1, 2, 3, 4, 5\}$,

$$\begin{cases} y_{12n+i} = y_i, \\ y_{12n+6+i} = -y_i + F_i^r(v, 1)\alpha. \end{cases}$$

Author Contributions

All authors contributed equally to this work. They all read and approved the final version of the manuscript.

Conflicts of Interest

The authors declare no conflict of interest.

References

- [1] Akgüneş N., Kurbanli A. S., *On the system of rational difference equations $x_n = f(x_{n-a_1}, y_{n-b_1}), y_n = g(y_{n-b_2}, z_{n-c_1}), z_n = h(z_{n-c_2}, x_{n-a_1})$* , Selcuk Journal of Applied Mathematics, 15(1): 8 pages, 2014.
- [2] Elabbasy E.M., El-Metwally H., Elsayed E.M., *Qualitative behavior of higher order difference equation*, Soochow J. Math. 33: 861–873, 2007.
- [3] Elaydi S., *An introduction to difference equations*, Springer, New York, 1999.
- [4] Gurbanlyyev A., Tutuncu M., *On the behavior of solutions of the system of rational difference equations*, European Journal of Mathematics and Computer Science, 3(1):23-42, 2016.
- [5] Haddad N., Touafek N., Rabago JFT., *Well-defined solutions of a system of difference equations*, Journal of Appl. Math. and Comput., 56(1-2):439-458, 2018.
- [6] Kara M., Touafek N., Yazlik Y., *Well-defined solutions of a three-dimensional system of difference equations*, Gazi University Journal of Science 33:767-778, 2020.
- [7] Karatas R., *Global behavior of a higher order difference equation*, International Journal of Contemporary Mathematical Sciences, Vol. 12, no. 3:133-138, 2017.
- [8] Karatas R., Gelişken A., *Qualitative behavior of a rational difference equation*, Ars Combinatoria, 100:321-326, 2011.
- [9] Kurbanli A. S., Çinar C., Yalcinkaya İ., *On the behavior of positive solutions of the system of rational difference equations $x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1} + 1}, y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1} + 1}$* , Mathematical and Computer Modelling, vol. 53, No 5-6, pp. 1261-1267, 2011.
- [10] Kurbanli A. S., *On the behavior of solutions of the system of rational difference equations $x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1} - 1}, y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1} - 1}, z_{n+1} = \frac{z_{n-1}}{y_n z_{n-1} - 1}$* , Discrete Dynamics in Nature and Society, Volume 2011, Article ID 932362, 12 pages, doi:10.1155/2011/932362, 2011.
- [11] Kurbanli A. S., *On the behavior of solutions of the system of rational difference equations $x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1} - 1}, y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1} - 1}$* , World Applied Sciences Journal, 10 (11), pp. 1344-1350, 2011.
- [12] Kurbanli A. S., Çinar C., Erdogan M. E., *On the behavior of solutions of the system of rational difference equations $x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1} - 1}, y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1} - 1}, z_{n+1} = \frac{z_{n-1}}{y_n z_{n-1}}$* , Applied Mathematics, Vol.2, pp. 1031-1038, 2011.

- [13] Kurbanli A. S., *On the behavior of solutions of the system of rational difference equations*, Advances in Difference Equations. 10.1186/1687-1847-2011-40, 2011.
- [14] Kurbanli A. S., Çınar C., Şimşek D., *On the periodicity of solutions of the system of rational difference equations*, Applied Mathematics. 02. 410-413. 10.4236/am.2011.24050, 2011.
- [15] Papaschinopoulos G., Fotiades N., Schinas C.J., *On a system of difference equations including negative exponential terms*, J. Differ. Equ. Appl. 20:717–732, 2014.
- [16] Şahinkaya A., Yalçinkaya İ., Tollu D.T., *A solvable system of nonlinear difference equations*, Ikonion Journal of Mathematics , 2 (1):10-20, 2020.
- [17] Simsek D., Ogul B., Abdullayev F., *Solutions of the rational difference equations $x_{n+1} = \frac{x_{n-11}}{1+x_{n-2}x_{n-5}x_{n-8}}$* , AIP Conference Proceedings 1880, 040003, 2017.
- [18] Simsek D., Ogul B., Abdullayev E., *Solution of the rational difference equation $x_{n+1} = \frac{x_{n-13}}{1+x_{n-1}x_{n-3}x_{n-5}x_{n-7}x_{n-9}x_{n-11}}$* , Applied Mathematics and Nonlinear Sciences, 5(1):485-494, 2020.
- [19] Stević S., *On a system of difference equations with period two coefficients*, Appl.Math. Comput. 218:4317–4324, 2011.
- [20] Stević S., *On a system of difference equations*, Appl. Math. Comput. 218:3372–3378, 2011.
- [21] Stević S., *On a solvable rational system of difference equations*, Appl.Math. Comput. 219:2896–2908, 2012.
- [22] Stević S., *On a solvable system of difference equations of kth order*, Appl. Math. Comput. 219:7765–7771, 2013.
- [23] Taskara N., Tollu D.T., Touafek N. and Yazlik Y., *A solvable system of difference equations*, Communications of the Korean Mathematical Society, 35(1):301-319, 2020.
- [24] Tollu D.T, Yalçinkaya İ., Ahmad H., Yao SW., *A detailed study on a solvable system related to the linear fractional difference equation*, Math Biosci Eng. Jun 17;18(5): 5392-5408, 2021.
- [25] Tollu D.T and Yalçinkaya İ., *On solvability of a three-dimensional system of nonlinear difference equations*, Dynamics of Continuous, Discrete and Impulsive Systems Series B: Applications & Algorithms, 29(1):35-47, 2022.
- [26] Yazlik Y., Elsayed E.M., Taskara N., *On the behaviour of the solutions the solutions of difference equation system*, J. Comput. Anal. Appl. 16(5):932–941, 2014.
- [27] Yildirim A., Tollu D.T., *Global behavior of a second order difference equation with two-period coefficient*, Journal of Mathematical Extension, 16(4):1-21, 2022.